o BRI o BT DR PUBRIB i A2 K R Rideak

B H : 2017/11/19

1 X 2 X 3 X 4 X 5 X 6 X 7 X 8 X

GG F—24 [BEXA L 1km 1. Tkm 3. 3km 2. 3km 1km 2. 8km 1. 6km 1. 9km
R BB R RER R R |ATH R (A ko KRB BEA (BRI B B K
1 XA 56’ 377|(3) 3.49|(2) 9.57/(3) 22.12|(2) 30.37[(2) 34.32|(2) 44.53|(1) 49.33|(1) 56.37
1> 6.08/<6> 12.15(<2>  8.25|<1>  3.55[<1> 10.21/<1>  4.40|<B>  7.04

rE eme degf fkmk (HEdm o B (FEE AE (| A mIR O |des FER (I '
2 | gl 56’ 56”| (2) 3.35/(1) 9.46|(1)  21.21|(1) 29.08/(1) 33.03|(1) 44.34|(2) 49.38/(2) 56.56
2> 6.11/<2>  11.35|<1>  7.47|<1>  3.55/<4>  11.31|<4>  5.04/<7>  7.18
BEEF SRR |AEEF s RREy KMt (EW 5L |ABAE F - (RN ARE im B (| B
3K 59217 (1) 3.34/(3) 10.19/(2) 21.39((3) 30.40/(3) 35.21/(3) 46.25/(3) 51.11/(3) 59.21
B> 6.45/<1> 11.20[<4>  9.01[<8>  4.41|<2> 11.04/<2>  4.46/<10>  8.10
FEE B RAE T I =R (G B4 Mm EER (B OSE AiHE F |ITH =IE
4 |f%E 100’ 367 | (4) 3.50/(5)  10.46|(4) 22.23|(4) 31.16|(4) 36.06|(4) 47.46|(4) 53.38|(4) 1.00.36
<> 6.56/<3>  11.37|<3>  8.53|<10>  4.50/<5> 11.40/<8>  5.52/<3>  6.58

EE EWE (s 8 |IEE VERR JEL R AT Ol 2 | KR |HE sEx |FHOS
5 [dEX 103’027 (5) 3.57[(6) 10.50/(6) 23.07|(6) 33.22|(6) 37.36/(7) 50.28/(8) 56.00|(7) 1.03.02
6>  6.53|<T>  12.17]<9>  10.15<5>  4.14/<9> 12.52|<7>  5.32|<4>  7.02
RS W (R BET am B4R R (B MW | B sk AR ER | EE SR
6 |1 103’ 387 (8) 4.15/an  11.53[(7)  23.46|(5) 32.56|(5) 37.10/(5) 49.01/(5) 55.08|(8) 1.03.38
Ay 7.38/<5>  11.53|<B>  9.10[<5>  4.14/<6> 11.51|<9>  6.07/<i1>  8.30
el 2=l (HME AR (2L 3R (BR[O =R R WS (KRB B (A8 Ha
7 | HX 1037497 10)  4.18[(4)  10.41/an  24.33/(8)  34.06|1)  38.56/(10) 51.51|(9) 57.10[(9) 1.03.49
3>  6.23]<a2  13.52|<6>  9.33|<10> 4.50/<10>  12.55|<6>  5.19/<1>  6.39
ek #FE AL B K A |mE S | ®RE AR (K SR R OB (ML K&
8 | Bk :04°36”| (5) 3.57|(8) 11.10/(5) 22.48|(7) 33.48/(7) 38.40/(9) 51.02|(0) 57.14|a0) 1.04.36
8>  7.13/<4>  11.38|<12>  11.00[<12>  4.52[<8>  12.22|<10>  6.12|<8>  7.22
BRI &< b [fEE WAE WY O ER |G C MBSk Mot 2E (MK @ (A KB
9 |fETHE 106’ 597 | (12) 4.38/ 120 11.54|(8) 24.23|(10) 34.35|a12 39.17|an  52.43|an  58.58 (1)) 1.06.59
9> 7.16/<8>  12.29]<8> 10.12]<9>  4.42|arp  13.26/<11>  6.15|<9> 8.0l
R B R PR RERD N |l Al [TPE ER AL RER |EE RRE S RRA
10 | Fx 108”057 (9) 4.16/ (100 11.40|12)  24.34|(9)  34.27[(9) 38.52|a2 53.03| (2 59.23| (12 1.08.05
<10> 7.24|<100 12, 54|<7> 9. 53|<7> 4. 25[<12> 14,1112 6. 20|<12> 8.42
MR et |05 B BUK K| B Fnsk (fp EEy (R EH D7 AW L mAE
OP |RB#k 102”2771 (7) 4.14/(9) 11.39|(10) 24.27|(12) 34.56|0) 38.55|(6) 50.25|(6) 55.48|(5) 1.02.27
Aty 7.25/<9>  12.48|<1> 10.29]<3>  3.59|<3>  11.30/<6>  5.23/<1>  6.39
B fE=E = EH | ONEKR [ Bt (= ER (W) BB |32 BRTY (KA B
OP MXB 1:02°53”| (11) 4.211(7)  11.01/(9) 24.25/a1) 34.46/(8) 38.50|/(8) 50.53|(7) 55.49|(6) 1.02.53
4> 6.40/<a1> 13.24[<0> 10.21]<4>  4.04K7> 12.03/<3>  4.56|<B>  7.04
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